LABO1 — 1 Phase Diode Redctifier
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Nominal Values: Vg(rms) = 120V at 60 Hz
Ls=1mH
Rs= 10 m2
Lg=1uH
Cg= 1.000 uF
Rlpad = 20 £

Simplify the circuit: remove Ls, Rs, Ld, Cd. Rsimulation to obtain vs, is, vd
waveforms. Obtain vd(average). Compare with thézakvalue.

Substitute Rload by a DC current source Id=10Btain vd(average). Compare
with theoretical value.

Make Ls=3 mH. Obtain vd(average). Compare witotetical value.

Obtain the current commutation interval u. Corapaith theoretical value.
Make Cd=1000F (initial condition 150V). Obtain the ripple voifaAvd.
Compare with theoretical value.

. Replace the current source by Rload&2Make Cd=1000F (initial condition
150V). Obtain the ripple voltagevd. Compare with theoretical value.



